REVIEW SHEET rgy
1. A triangle is dilated by a scale factor of 3 with the center of dilation at the origin. Which statement is true?
@ The area of the image is nine times the area of the original triangle.
2) The perimeter of the image is nine times the perimeter of the original triangle.

3 The slope of any side of the image is three times the slope of the corresponding side of the original
triangle.

AY The measure of each angle in the image is three times the measure of the corresponding angle of
the original triangle.

2.If AABC is dilated by a scale factor of 3, which statement is true of the image AA'B'C'?
) 34'B'= 4B

(2) 3¢ -38c

3 mLA = 3(mL4)

A 3(mLC) = msC

3. The image of A4BC after a dilation of scale factor k centered at point Ais AADE, as shown in the diagram
below.

A
Which statement is always true?
AT 24B= 4D 5 o
2) AD1DE
3) AC=CE
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4. In the diagram of AABC shown below, D& | BC. If 4B = 10, 4D = 8, and A£ = 12, what is the length of £C'?
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5. Triangle PQT with RS || ©T is shown below. If PR = 12, RQ =38, and P§ = 21, what is the length of PT?
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6. In the diagram below of A4CD, E'is a point on AD and B is a point on AC, such that Z5 I DC. If 48 = %
ED =6, and DC =15, find the length of EB,
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8. As shown in the diagram below, 43 and CD intersect at E, and Ié” BD.

Given AAEC ~ ABED, which equation is true? A
A cE_EB c
DE ~ E4
@ 4z _4c /
BE ~ BD
3 EC _BE ¥ E
AE  ED
4 ED _AC
"8 D
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9. In the diagram below, AABC'~ ADEF. |f AB =6 and AC = 8, which statement will justify similarity by SAS?

@) DE=9 DF=12,andLA=«4D

2) DE=8 DF=10,and A= ZD &
B
3) DE=136,DF=64, and LC= LF a
4) DE=15, DF=20, and £C= ZF /\
A 8 <Cc D F

10. In the diagram below, the vertices of DEF are the midpoints of the sides of equilateral triangle ABC, and
the perimeter of ABC is 36 cm. What is the length, in centimeters, of EF?
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1. The accompanying diagram shows two similar triangles. Which proportion could be used to solve for x?
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12. In the diagram below, DE joins the midpoints of two sides of A4BC. ¢

Which statement is not true? /\
" ce- %OB o /D : E\
2 pE- S4B / A

@ area of ACDE = -21- area of AC4B

perimeter of ACDE = —;- perimeter of ACAB /

13. As shown in the diagram below, A4BC ~ ADEF, AB=T7x,BC=4,DE =7, and EF = x.

What is the length of 457 A
1) 28 D
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14. A triangle has sides whose lengths are 5, 12, and 13. A similar triangle could have sides with lengths of

1) 3,4,and5

2) 6,8,and 10
3) 7,24, and 25
(@ 10, 24, and 26

15. In the diagram below, AABC ~ AEFG, mZC=4x+30, and msG = 5x + 10. Determine the value of x.




16. Triangles RST and XYZ are drawn below. If RS = 6,57
to AXYZ? Justify your answer.
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17. To find the distance across a pond from point B to point

14, XY=9,¥Z=21,and L5 = £, is ARST similar
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C, a surveyor drew the diagram below. The

measurements he made are indicated on his diagram. Use the surveyor's information to determine and state

the distance from point B to point C, to the nearest yard.
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19. If AD=3and DB = 9, find AC.
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20.  Tf DB =21and AC =10, find AD.
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25.

Given: A8 DE 4

e

Prove: ACxCD =CB x CE \

Given: LPEM = /DAS .
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26. Construct AABC after the transformation Ds. Label it A'B'C". //

27. Construct AABC after the transformation D... Label it A'B'C'.
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28. The line 3y = -2x+ 8 is transformed by a dilation centered at the origin. Which linear equation could be its
image?

33‘: '_2,,/..1?
l.y=-3/2x+5 S
Y_h 2 3
Zy=-2/3x+5)
-2 €

Lll.."- "'_')'* s
3y=-2x-3 - 3 =2
4. y=3x+8

29. The line y = 2x -4 is dilated by a scale factor of 3 and centered at the origin. Which equation represents
the image of the line after the dilation?

1) Y=2x-4
— w s 2x-la
2 Y=2x-120 =
3 Y=6x-4
4) Y =6x-12

30. A line that passes through the points whose coordinates are (2, 3) and (8, 5) is dilated by a scale factor of 3
and centered at the origin. The image of the line

1) is perpendicular to the original line

@ér‘aﬂel to the original li

3) passes through the origin

4) is the original line



